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Time: 3 Hours     Max. Marks: 40 

………………………………………………………………… 

Note:- This paper is of Forty (40) marks divided into 

two (02) Section A and B. Attempt the 

questions contained in these sections 

according to the detailed instructions given 

therein.  

uksV%& ;g iz'u&i= pkyhl ¼40½ vadksa dk gS tks nks ¼02½ 
[k.Mksa ^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa 
fn, x, foLr̀r funsZ”kkssa ds vuqlkj bu iz”uksa dks gy 
djuk gSA 

Section-A ¼[k.M&d½ 

(Long Answer Type Question) ¼nh?kZ mÙkjh; iz'u½ 

Note:-  Section - A contains Three (03) long answer-

type questions of Ten (10) marks each. 

Learners are required to answer any Two 

(02) questions only.     (2×10=20) 
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uksV%&  [k.M ^d* esa rhu ¼03½ nh?kZ mÙkjh; iz'u fn;s x;s 

gSaA izR;sd iz'u ds fy, nl ¼10½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

 

1. Show that for a common catenary  

y = c cosh 
�
� 

,d le:Ik dSVujh ds fy, fl) fdft, 

 y = c cosh 
�
� 

2. For motion in a plane show that radial 

acceleration = 
���
��� − 	 
��

�� �


 

Transverse acceleration = 	 ���
��� + 2 ��

��  . ��
��  . 

,d ryh; xfr ds fy, fl) dhft, fd  

vjh; Roj.k =
���
��� − 	 
��

�� �


  

vuqizLFk Roj.k  = 	 ���
��� + 2 ��

��  . ��
��  . 

3. Discuss motion of a particle on the inside of a 

smooth vertical circle. 

,d fpdus ÅèokZ/kj or̀ ds vUr% ry ij d.k dh 

xfr dks le>kb,A 
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Section-B ¼[k.M&[k½ 

(Short Answer Type Questions) ¼y?kq mÙkjh; iz'u½ 

Note:-  Section-B contains six (06) short answer type 

questions of five (05) marks each. Learners 

are required to answer any four (04) 

questions only.      (5×4=20) 

uksV%&  [k.M ^[k* esa N% ¼06½ y?kq mÙkjh; iz'u fn;s x;s gSaA 
izR;sd iz'u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 
f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds mÙkj 
nsus gSaA 

 

1. Discuss λ − µ  theorem. 

λ − µ izes; dks le>kb,A 

2. Show that the work done by a force is equal to 

the algebric sum of works done by its 

components. 

fdlh cy }kjk laikfnr dk;Z mlds fo;ksftr Hkkxksa 

}kjk laikfnr dk;ks± ds ;ksx ds cjkcj gksrk gSA 

3. A telegraphic wire is tightly streached 

between two poles. If distance between two 

poles is a, and sag is n then tension at ends is 
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approximately w 
��

�� + �
� ��, where w is weight 

per unit length. 

,d VsyhxzkQ rkj nks [kEcksa ds eè; ruk gqvk gS ;fn 
[kaHkksa ds eè; nwjh a rFkk >ksy n gS rks fljksa ij 

ruko yxHkx w 
��

�� + �
� �� gksxk] tgk¡ w izfr bdkbZ 

yackbZ Hkkj gSA 

4.  For a simple harmonic motion show that 
���
��� =  −�
� . 

ljy vkorZ xfr ds fy, fl) dhft, fd 
���
��� =  −�
� - 

5. If central force is rn = an cos nθ then find low of 

force. 

;fn dsUnzh; d{k rn = an cos nθ gS rc cy fu;e 
Kkr dhft,A 

6. Find moment of inertia of a circular disc. 

o`Ùkh; pfØdk dk tM+Ro vk?kw.kZ Kkr dhft,A 

 

****** 


